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1.You have created a Leave of Absence using the Time Off Ul. The start date of the leave is June 1,
2022, and the expected return date is June 30, 2022.

Which events are created in the Job Information?

A. Only Leave of Absence

B. Leave of Absence and Return to Work

C. Only Return to Work

D. Leave of Absence and Data Change

Answer: A

2.Which of the following can lead to automatic absence recalculation? Note: There are 3 correct answers
to this question.

A. Changes to the Work Schedule in Job Information

B. Changes to the Holiday Calendar in Job Information

C. Changes in the Work Schedule object

D. Changes in the Temporary Time Information object

E. Changes in the Holiday Calendar object

Answer: A,B,.D

3.Based on an employee's work schedule, the planned working time is from 09:00 AM to 05:00 PM (9
hours). On the timesheet, the employee enters the actual start and end time as 09:00 AM and 06:00 PM.
What will be the hours in Value 1 and Value 2 of the below rule? Note: Time Type Group A in the Input
Time Type Group is the input hours from 09:00 AM to 06:00 PM. No previous and next rules are
considered in this scenario. No other additional scenarios that may alter the working time are considered
in this rule (for example a break or a holiday).
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A. Value 1 =1 and Value 2 =10
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B. Value 1 =9 and Value 2 = 1

C. Value 1 =10 and Value 2 =1
D. Value 1 =1 and Value 2 =9
Answer: B

4.Which posting type should you use to import time account balances?
A. Accrual

B. Entitlement

C. Recalculation

D. Manual adjustment

Answer: D

5.An employee is hired on January 10, 2022, with yearly accruals as accrual frequency.

What is the correct accruable and accrual period combination?

A. Accrual period = January 1 — December 31, 2022, Accruable period = January 10 — December 31,
2022

B. Accrual period = January 1 — December 31, 2022, Accruable period = January 10 — January 31, 2022
C. Accrual period = January 1 — January 31, 2022, Accruable period = January 10 — January 31, 2022
D. Accrual period = January 1 — January 31, 2022, Accruable period = January 1 — January 31, 2022
Answer: A
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